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Mid-Unit-10 Review — Infinite Sequences and Series

Reviews do NOT cover all material from the lessons but will hopefully remind you of key points. To be prepared,
you muist study all packets from Unit 10.

1. Which of the following series converges?
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3. Which of the following series can be used with the Limit Comparison Test to determine whether the series
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4. Calculator active, Find the sequence of partial sums S;, S,, S5, S,, and Ss for the infinite series
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of the limit.

5. Verity that the infinite series Z iz dlverges by using the nth-Term Test for Divergence. Show the value
n=1

/Z'm 3ﬂ+l
h=300 32[3.,])

DI\Rvj&) c;’ Term

_E? %
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8. Use the Integral Test to determine the convergence or divergence of the series :;
i n=1
& . . . 1. -
[{’t +(X) = >~ > 'Hff) ‘3 4’@4‘/"“/!ua-.,'s‘J f@:}ﬁ;\lﬁ decvessmn.
X2

‘,d‘ b

l/ 4 i
i /am - ¢ A—- (,.F/i) (afn'é,s
v 4_?_1__-1__ Ax=z=-Kdu | baoe - | (fof'Vf(f d’
- S w2 =} 7
R Rl v e=[re]
f;"wlx *pe)('—xlcjuu



®
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10. Which of the following statements about the series Z is true? j
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11.  Which of the following statements about the series Z
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12. Which of the following is required in order to apply the Integral Test to the series z Ay
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(A) lim a, = 0and Z a, is a positive series.
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16. Determine whether the series Z —a= = o

converges absolutely, converges conditionally, or diverges.
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17. Determine the convergence of the infinite p-series Z n",
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18. The nth-Term Test can be used to determine divergence for which of the following series?
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BC Calculus Unit 10 “Tests for Convergence” Quiz Review WS #2 ( 10 -~ I 0. (, )
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Calculators Allowed:
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1. The infinite senesz a, has nth partial sum §,; = T forn = 1. What is the sum of the series?
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5. Explain why the Integral Test does not apply to the series z — = > In £ (/& veas: y {
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6. For what values of p will the infinite series Z converge?

n3p+1
n=1

--k(,cnvar\jes i 3'0—H >

3f>>o

q—_? (}

=

7. Calculator active. Which of the following series matches the following sequence of partial sums 0.1667,
0.3333, 0.4833, 0.6167, 0.7357,...2
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9. Which of the following series can be used with the Limit Comparison Test to determine whether the series
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Which of the following series is absolutely convergent?
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15. Which of the following statements are true about the series Z( 1)+t
aneg S apy foralln = 1.

I.
vV IL

lim a, # 0

=

+1?
n
n=1
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16. What are all values of x > 0 for which the series Z Converges.
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Answers to Mid-Unit 10 Corrective Assignment

12 2. C 3. C 4. 2 5. f(n) is not a decreasing function for n. = 1.
6. p>0 7. B 8. A 9. B
10. Diverges by nth-Term Test, 7{mclo a, =$ 11. C 12. B 13. B
14. f.” f(x) dx = oo, Series Diverges | 15. B 16. x <7 17. D 18. 32
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BC Calculus Unit 10 “Tests for Convergence” Review WS #3

Period: @

Calculators Allowed:

X3 :
1) The infinite series E yrEs has nth partial sum §); = = —
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== What is the sum of the series?
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5) If the infinite series Z a" has nth partial sum §,, = - (4" —1) forn = 1. What is the sum of the series?
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8) What is the value of

9)  For what value of a does the infinite'series
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10) The nth-Term Test can be used to determine divergence for which of the following series?
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12) Use the Integral Test to determine the convergence or divergence of the series Z —.
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- 14) Use the Integral Test to determine if the series Z Thr gy converges or diverges.
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15)  For what values of p will the infinite series Z — convergc‘?

'_P | E n=1

7P

- 16) For what values of p will both mﬁmtc series Z

e e

RO

s e B hagions

S ABHARE TR Ll ok

Z (_) 2 n’f‘ -

{onvergey l+ 'th_,

t‘fx,oonen-f’ in the

G’é’om—l«-k"(l Fendy
Lon Vfr&” t 'Q

|

|

2 zmp>3] B
)

P

| 17) Which of the following is a divergent p-series?
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18) Which of the following series converges? | Bjve l H\ -/'g,m r[%{,
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, 19) Whmh of the following series can be used with the Limit Comparison *1“:@‘ t to determine whether the series
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1 20) Use the Comparison Test to determine the convergence or divergence of the scm&z % . You must identify
' the series ;mu are using for m}mpam%n ‘ =

fim 2 ’V”/

i Sevies zon ver ﬂL

LCT.

.._._‘._..m-.«,,

| 2
i 21)  Determine whether the series Z TG converges or diverges. Identify the test for convergence used.
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4 22) Explain why the Alternating Series Test does not apply to the series M
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23) Determine the convergence or divergence of the series ’ D L R PE.
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25) Which of the following statements is true?
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26) Use the Ratio Test to determme the convergence or divergence of the senesz e
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27) If the Ratio Test is applied to the series Z w, which of the following inequalities results, implying that
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- 29) What are all values of x > 0 for which the series y converges?
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33) Which of the following statements is true about the series Z NP
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i B. lThe series converges absolutely. s

C. The series converges but neither conditionally nor absolutely.

D. The series diverges.

o3
_Asn
34) Determine whether the series Z ( +) T converges absolutely, converges conditionally, or diverges.
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Determine whether the series Z T converges absolutely, converges conditionally, or diverges.
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